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(ii)

(ill)

(It)

<T>

-.0048816549

b „ + bo (.0622?93422) = .0077715702
*§

bp = .0080755965 
*2

bXg + bx| (134.5093168865) + (1.4038374245) = .7377581244

b = -.3416181258 
*2

b * b (.4585320785) + b o (65.2657922454) + b „ ( 112.8489553863) = .8148502576
X1 x2 H *1

b =- ,9953225796 
X1

I
c * 5 (5V'.1906^74820) + b (67.4748201439) +b 2 (4750.3309352513) + b ? (3356.8741007194) - 43.3021587734

rl *2 x2 *1

o = -12.5450178832

yd= -.0048816549Zd+.008C755965^+.9953225796Xl-.3416181H58X2 - 12.5450178832

b^ - .0077715702

b + bp (134.5093168865) = .7377581244
Ag X 
* 2

b = -.5075904743 
X2

b * b (.4585320785) + b
*t *2

b = .4486726710 
*1

o + b.. (57.1906474820) -b_ (67.4748201439) +b P(4750.3309352518) = 43.3021582734 
-1 X2 X1

o = 1.4893593051
yd= 0.4486726710Xj—0.3075904743X2+.0.0077715702X^+1.4793593051

3% (65.2657922454)‘= .8148502576

b = .7377581244 
X2 ,

b ♦ b (.4585320785) = .8’.48502576 
1 *2

b = .4765644914
T.

c +b (57.1906474820) +h. ,67.4748201439) = 43.30a582734 
*1 1 *£

o = -33.7329703103

yd=0.4765644914X2+ 0.7377581244 - 33.732970310

b, = .8148502576

0 + b - (57.1906474820) = 4$.5021582734 
1

0 =-3.299655582 

y - c 8MBS0W6X, -
Q



Appendix 5 (eontd.) 135
III Prediction of PScE Mathematics (yd) from SSCB English (X^) and SSQE 

Mathematics (X0)
2 9 2

(i) The fitted regression of on Xi, Xg, Xg, X^ XjXg is
y _ .9662175811X - .371337OZSOXg + .0078346711X§ - .0052771734X1 

d 1 + .001C3746801X1Xg - 10.5925691238
Reg. S.S.= (.9662175811)(707966) - (.3713370280)(857995)

+(.0078346711)(63533459) - (.0052771734)(42652590) g
+r;( .0010746801) (50974387) - (10.5925691233) {l2038)-il£038)

(ii)

(iii)

= 565390.34 
= 44118.96

521271.38

on X^» X„» X » isHie fitted regression of 5^ on a2>
y = .9953225796X1-.3416181258X_+.0080755965X^-.0048816549XL-12.5450178832

d 1 *
Reg. S.S.= (.9953225796)(7C7966)-(.3416181258)(857995)

+(.0080755965)(63533459)-{.0048816549)(42652590)

-(12.5450178832) (12038) -(,12PM)*2

= 565386.33-521271.38 
a 44114*95 «

The fitted regression of 3^ on X^> Xg» Xg

y = .4486726710X -.3075904743Xg+.0077715702x|+1.4793593051 

Reg. S.S.= (.4486726710)(707966)-(.3075904743)(857995) , 2
+( .0077715702) (63533459)+(1.4793593051) (12058)-(igp)

= 565297.17 - 521271.38 
= 44025.79

(iv) The fitted regression of % on X^, Xg

yd s .47656449143^ + .7377581244Xg - 33.7329703103

Reg. S.S.= (.4765644914)(707966)*(.7377581244)(857995)

-(33.7329703103)(12038) - (12058)
278

- 564306.74-521271.38
= 43035.36

(v) The fitted regression of % on X^

y = 0.8148502576Xi - 3.299655582 
d 1 2

Reg. S.S.=(0.8148502576)(707966)-(3.299655582)(12058)-llgM)


